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LABOUR LAWS

Industrial Dispute Act

Uells [Qale IRl sUR HHAHL 2l ?

(A) 1947 (B) 1948

(C) 1949 (D) 1950

When Industrial dispute act came in to force ?

(A) 1947 (B) 1948
240 SNeRNS dsAR <l ...

(A) last azadl asA

© SIHEIRL VU SIUEIRL 423 dSRAR

It is not industrial dispute .....

(A) Dispute between employers

(C) Dispute between workers and workers
NS ASAR L SIUELAL Hu GEA U O ?
(A) sailis ailda  (B) s aild
What are the aim of 1.D.Act ?

(A) Industrial peace

(C) Environment Safety

HYR UEIAAH] 22U S12L 53 9 ?

(A) B[2d AR (B) A% AR

Who create labour court ?
(A) Appropriate Government

(C) Central Government

(C) 1949 (D) 1950

(B) W& 24 S1ME1R Q23 dsAR

(D) HUlAsL A SIHELRL 42 dSAR

(B) Dispute between employer and worker

(D) Dispute between employers and workers
(C) uulazel u28u

(D) $SIMEIR sRUBL

(B) Social peace
(D) Welfare of worker

(C) 55 USIR (D) weguld

(B) Local Government
(D) President

B [Qale ARl 21-ad NRSULA 83N A Awusidl ssidl asia © a1 20 Qa8

AHA 91 ?

(A) 8L (B) -

(C) »id: 81 (D) 2igd: -l

Can you agree with that according to I. D. Act illegal strike and lockout can be prohibited ?

(A) Yes (B) No

(C) Partly True (D) Partly False
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(§) MY vslddrll ALAE-] Alasia A 8 ?
(A) aL % (B) 815518 %%
(C) AL ad w2 félse %%y sin (D) 7 ad W2 cudul ~udls lel Quadl iy

(6)  What is qualification of president officer of labour court ?

(A) Including all

(B) High Court Judge

(C) Experience of 3 years of district judge

(D) Should have held any judicial officer in India for not less then 7 years
(9) YR HULIAAHL S1Ul 3 USRS ?

(A) ~udls (B) A€-=udls (C) adladl (D) uqdls
(7)  Which type of function are labour court ?

(A) Judicial (B) Non judicial (C) Administrative (D) Professional
(¢)  0eilis as- suel DA 2orHull SIMER A SIMER 8 ?

(A) 8L (B) - (C) »il2s 81 (D) 2Ailas -u
(8) Is apprentice worker is worker as per I. D. Act ?

(A) Yes (B) No (C) Partly True (D) Partly False
(¢) A5 %ER s GRS SiA 69 ?

(A) wlas (B) SIMERA (C) Alas 4 (D) sd%22
(9)  Who has right to declare layoff ?

(A) Employer (B) Worker (C) Inspector (D) Collector

(10) 2 Wil s s1MELR el ?

(A) Baul |- A SIUER (B) A4 SIHEIR

(C) 518 (D) [ s s1E1R
(10)  Who is not worker include this

(A) Employee of prisoner (B) skill worker

(C) cleark (D) not skill worker

(11)  axH sHAE SIHER el 2 dHIH SIHER sHALL S d w3 & ?

(A) 8L (B) L (C) »iil2s 81 (D) 2il2s -u
(11)  All employer are not workmen, but all workmen are employees, Is it true ?

(A) Yes (B) No (C) Partly True (D) Partly False
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(12)

(12)

(23)

(13)

(1%)

(14)

(aw)

(15)

(a¢)

(16)

(19)

17)

Al Gid)l AH2A id: UHA HIZ S AN 6{8, 50 20 8 ?

(A) 8L (B) L (C) &ilAs e (D) Ail2s ~u

Is it true that lock out means temporary closing of a place of employment ?

(A) Yes (B) No (C) Partly True (D) Partly False
A viis Hed ...,

(A) ellsl s1n 2uuai-l nalda (B) $IHERAL $1H sl -1t wizdl

(C) %182 %1 OEEREEN

Lay off means .....

(A) Incapacity of provides employment by owners

(B) Denying of work by worker

(C) Public holiday

(D) None

Aonsiel si-i geluiz © ?

(A) wlas (B) SLMER (C) widln (D) SIHEIR U8
Who's weapon is lockout ?

(A) Employer (B) Worker (C) Police (D) Trade Union
S3dl sidd sl & ?

(A) SIMER (B) wilas (C) Wil (D) SIMEIR Y
Who's weapon is strike ?

(A) Employer (B) Worker (C) Police (D) Trade Union
e920ll 247 & His R Aoig 8 ?

(A) dstad (B) 13Ul (C) [QRianeun (D) 35 UL el
What is the relation between retrenchment and layoff ?

(A) Difference (B) Similarity (C) Controversy (D) None
2NEURLS A5AR/VAL SPAEIHL AUEHT SiL AHIAA SUHL 20 8 ?

(A) AU (B) wulas (C) ~udla (D) woR uldlAA
An industrial dispute act who is included in arbitration ?

(A) Umpire (B) Owner

(C) Judge (D) Representative of labour



File hosted at www.educationobserver.com/forum

(1¢)

(18)

(1)

(19)

(k0)

(20)

(R4)

(21)

(R?)

(22)

2i5[Ald Gelldll BuR Sirl w5 Slu & ?

(A) 5+ AR (B) wlas

By whom control industries controlled

(A) Central Government

(C) State Government

(C) AU UIR (D) $IMEIR U8

(B) Owner
(D) Trade Union

SOLAIR Al2R A SAHL Sl carval 2y Ml 2udl € ?

(A) Gad (B) SLMER

(C) wlas (D) SIHER AY

Who's definition is given in Bangalore Water Supply case ?

(A) Industry (B) Worker

(C) Owner (D) Trade Union

suL S Genloll carvul H AL AEURIAL s ?

(A) SAAIR Al2 A 5A

(C) Aisuux =43 Uy uL. dl.

(B) L. vir. oinl
(D) 22 2su21d e Sl-Nlfloy e

In which case definition of Industry is modified ?

(A) Bangalore water supply case
(C) Express news paper Pvt. Ltd.
A U Al QLM $AUL SIHEIRA HOL ?
(A) HR2R Ud BUR B+ -uH ¢l
(C) vrHugll s1uElR

Which worker gets benefit of layoff ?
(A) Who's name is on muster roll
(C) Proportional worker

A s HI2 518 FAUAER 8 ?

(A) wlas
(C) UK

Who is liable for layoff ?
(A) Owner
(C) Government

(B) D. N. Banerjee
(D) Oriental Textile Finishing Mills

(B) 222 A BUR B+ UM L €l
(D) Guniddl 516 )

(B) Who's name is not on muster roll
(D) None of this

(B) S1MER

(D) $IMEIR U8

(B) Worker
(D) Trade Union
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(3)  NA-uuidd s s1HER © ?
(A) Gaaul sam § Biasan siu s €in
(B) 281 9t
(C) adladl 514 $2dL Sid
(D) WlAHL 514 5L $1d

(23)  Who is worker from below
(A) Employed in industry to do skill ...... skilled
(B) Air Force Man
(C) Employed in administrative capacity
(D) Employed in police service

(R¥)  ualalRiA s [Bed [Q. u-ua-u Suui 8 saaai »ud ?
(A) Riza-l ugla Gaia -l (B) Rizatdl uald Acu 69
(C) Rzl ugld cacqzu (D) [zl uala Gear &

(24)  What held in case of University Delhi V/s. Ramnath
(A) Educational Activity is not Industry
(B) Educational Activity is Service
(C) Educational Activity is profession
(D) Educational Activity is Industry
(Ru)  ADA-umidl 55 ugld e Guadll Aay Al ?

(A) 512 Bewient (B) 344 Aal (C) 2A1siA A (D) [Qerd A

(25)  Which is not public utility service from below ?

(A) Manufacturing of car (B) Railway Service

(C) Telephone Service (D) Power Supply Servce
(R§) A s s ARRNHL 2l asa ?

(A) A~ sien o (B) $12u Wiesdl 21694

(C) Guwléld WAl M1l (D) 1l vig wdd Sy

(26)  Inwhich circumstances layoff is provide ?
(A) All of below (B) Scarcity of Raw material
(C) Excess stock of manufactured goods (D) Failure of machinery
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(R9)

(27)

(R¢)

(28)

Re)

(29)

t92ull ved .....

(A) a1 Raa 516 ua s1Rau wlas siueir-l da-i sudial »id

(B) st1elRl R8s [Rald

(C) Riraciatit warcn a3l A

(D) au [Rgld

Retrenchment means .....

(A) termination by the employer of the service of a workman for any reason exclude
punishment

(B) voluntary retirement of worker

(C) punishment in disciplinary action

(D) retirement on age limit

adwusidl x124 ...
(A) A~ s (B) -lis31H1L 204 618 AMY
(C) $1MA HigS AMY (D) S1HEIRA S A1d Aviald S+512 sl

Lockout means .....

(A) all of below (B) closure of place of employment

(C) closing of work (D) denying of worker continuing in service
AHal ulsul e 248 AHAL A2d 9 ?

(A) AxLa (B) umdl (C) 4 OEERERN
What is settlement which arrive at in a course of conciliation proceeding ?

(A) Settlement (B) Agreement (C) Arbitration (D) None of this

QOOO®





